7000 GeV pp Top (parton Ie;vgl)

I L L L L L M B L B L R A B I
- pT (top) (pTtt > 50) 7
1 =
107 = =
107 £ =
~  —a— Pythia 8.308 default :,,” Ry
1073 e ¢ Sherpa 2.2.9 default F}E
P T T R Y PN R P P A S A IS I I
- 2F -
= = =
A — Z
(4} | ]
-c — —
© B |
o
CY? — —_
o0} — |
£ 103
3 ¥, ]
o — Q’ —
ie) owuwwwvvnu»%,”,Q e ;¢
&5 B M ¢ ”9’ ’90 Q’* ‘ * ¢ “ ’ ’ ’_
0.5 - ¥ ’¢‘¢¢ ,geﬁ.—
| " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " " " " -Il‘ |_:‘ Izu 1

0 100 200 300 400

Rivet 3.1.10, = 2.7M events
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